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Instructions : (1) All Questions are compulsory. 

 (2) Answer each next main Question on a new page. 

 (3) Illustrate your answers with neat sketches wherever necessary. 

 (4) Assume suitable data, if necessary. 

 (5) Use size chart provided along with question paper. 

  

     Marks 

1. Attempt any TEN of the following : 10 × 2 = 20 

 (a) Enlist methods of measurement. 

 (b) Define pattern making. 

 (c) Enlist patterning tools. 

 (d) List out the types of patterns. 

 (e) Write the measurement for Romper block. 

 (f) Design the men’s shirt (Any 2 styles) 

 (g) Illustrate any 2 sleeve silhouettes & name it. 

 (h) Define ease allowance. 

 (i) Define the seam allowance. 

 (j) Illustrate any two collar styles. 

 (k) Illustrate any two placket styles. 

 (l) Enlist any 4 vertical measurements for upper bodice. 

 (m) Sketch & state function of Tailor chalk & 114th scale. 

 (n) State objective of standard measurement charts. 
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2. Attempt any TWO : 2 × 8 = 16 
 (a) Define drafting. Explain following terms : 
  (i) Dart manipulation  
  (ii) Added fullness  
  (iii) contouring 
 (b) Draft a pattern for kid’s A-line frock with their drafting details.  
  (size – 1-2 year refer size chart-1) 

 
Size chart - 1 

 (c) Draft the following collar adaptations : 
  (i) Roll collar  
  (ii) Shawl collar 
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3. Attempt any TWO of the following : 2 × 8 = 16 
 (a) Define Draping. Explain principles involved in patterning. 
 (b) Draft a pattern for trouser block with its drafting instructions.  
  (size waist – 85, Refer size chart-3) 

 
Size chart - 3 

 (c) Draft the following sleeve adaptations : 
  (i) Raglan sleeve    
  (ii) Puff sleeve 
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4. Attempt any TWO : 2 × 8 = 16 
 (a) Compare Bespoke method & industrial method of patterning. Explain 

following terms : 
  (i) Block pattern  
  (ii) Adaptation pattern 
 (b) Draft a pattern for women’s basic skirt with drafting instructions.  
  (size waist 64 Refer size chart-2) 
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 (c) Draft the following collar adaptations : 

  (i) Peter pan collar  

  (ii) Stand collar 

 

5. Attempt any TWO of the following : 2 × 8 = 16 

 (a) Draft the pattern of Men’s shirt block with drafting instruction.  

  (size 40. Refer size chart-3) 

 (b) Illustrate following garment styles.  

  (i) Frock   

  (ii) Trouser  

  (iii) Jackets  

  (iv) Kurta     

         [Each 2 design] 

 (c) Explain the relationship of sleeve crown height with fit of garment. 

 

6. Attempt any TWO : 2 × 8 = 16 

 (a) Sketch & Explain following Terms : 

  (i) Horizontal measurement 

  (ii) Circumference measurement 

 (b) Sketch & state the functions of different measuring & patterning tools. 

 (c) Illustrate adaptations made in the basic sleeve block for following types of 

sleeves : 

  (i) Tulip sleeve  

  (ii) Cap sleeve 

__________ 
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